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SUB     : C++
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General Instructions :

1. Assume the header file is included for all the output programs ( not in error programs)

2. Please do not use built in functions in any of the program .

3. All programs must be in C++

PART – A

1.
Explain about copy constructor and parameterized constructor in C++ with an example.











( 2 )

2.
Define the following :







( 2 )


a.
Data abstraction.


b.
Data Encapsulation


c.
Data Hiding



d.
Inheritance and its types

3.
Find the output of the following :

a. void main( )







( 2 )

{


int j = - 5;


cout << + + j<<” “<< + + j<<” “<<j<<” “ <<j+2<<” “<< j - -;


cout<< j <<endl;

}

b. void main( )







( 1 )

{


int j = 5;


while ( ! ( ! j - -  ) )


{ 



cout << j << “ Good “<<endl;


}

}

c. enum detail { arun = -5 , uma , kala , mala = 7 , anand } x;

( 2 )


enum dept { red , blue = - 5 , green , white = 7 , black } y ;

void main( )

{


for ( x = arun , y = red ; x < = anand && y < = black ; x ++ , y ++ )



cout<< x <<” \t “<<y<<endl;

}  

d. void main( )







( 2 )

{

struct point 

{


int x , y ;

} ob [ ] = { 1 , 7 } , { 15 , 25 } , { 35 , 45 } , { 55 , 65 } } ;

point *a;

a = ob;

a ++ ;

a -> x++;

a++;

a ->y++;

cout<< ob ->x <<” “ << a ->x << endl;

cout<< ob ->y<< “ “ << a ->y <<endl;

}


e. void main( )







( 2 )

{


struct


{



int x , y;


} *p , sg [4] = { { 9 , 8 } , { 7 , 6 } , { 5 , 4 }, { 3 , 2} };

p = & sg[0];

p ++;

for ( int j = 0 ; j < 4 ; j + + , p + + )


cout << ( p + j ) - > x << “ \t” << ( p + j ) ->y<<endl;

}

f. void main( )







( 3 )

{


char s[] = “ ComPUteR”;


for ( int x =0 ; x < strlen ( s ) ; x + + )


{



if ( islower ( s[x] ) )




s [ x ] = toupper ( s[x] );



else if ( isupper ( s[x] ) )




if ( x % 2 = = 0 )





s [x] = tolower ( s[x++] );




else





s [x]  = s[x-1] + + ;


}

puts(s);

}

g. int a = 10 ;







( 2 )

void fun1 ( int & x , int * y )

{


x = x  - * y;

* y = x * 10 ;

cout<<x<< ” ,  “<< *y <<endl;



}



void main( )



{




int a = 15;




fun1 ( a , & :: a );




cout<< a <<” , “<< ::a<<endl;




fun1( ::a , & a );




cout<<a << “ , “ << ::a<<endl;



}

h. void main( )







( 2 )

{


randomize( );


int num , rndnum ;


cin>num;


rndnum = random(num);


for ( int n = 1 ; n < = rndnum ; n + + )



cout<< n << “ “;

}

4.
Rewrite the code after correcting the errors . Underline the errors .

a. void main ( )







( 2 )

{

const int * const p = new int ( 100 ) ;

int * q;

p = q ;

++ ( * p );

p ++ ;

delete p ;

b. int * num = new int [ 5] = { 10 , 25 , 35 , 45 , 55 };



( 2 )


for ( j = 0 ; j < 5 ; j++ )


cout >> * [ num + j ] ;

c. void calc ( float * p , int & q )





( 2 )

{


p = p + 1;


q = q + p;


p + q + 5;

}

void main( )

{


int a = 5;


calc ( a , & a );


cout<<a ;

}



PART – B

1.
Answer the questions a and b after going through the code :


( 2 )


class exam


{



int mark ;



char sub [ 30 ];


public :



exam ( )




Function 1



{




marks = 0 ;




strcpy ( sub , “ computer “ );



}



exam ( char s [ ] )



Function 2



{




marks = 0 ;




strcpy ( sub , s );



}



exam ( int m )




Function 3




{




marks = m ;




strcpy( sub ,  “ c ++ “ );



}



exam ( char s [ ] , int m )



Function 4



{




marks = m ;




strcpy ( sub , s );



}


}




a. Write statements to execute all four functions 



( 1 )


b. Can we over load a destructor .





( 1 / 2 )

c. What concept of OOPS is demonstrated by the four functions 

( 1 / 2 )

2.
Define a class ELECTION with the following specifications . Write a suitable main ( ) function also to declare 3 objects of ELECTION type and find the winner and display the details .









( 3 )


Private members :


Data
: 
candidate_name , party , vote_received


Public members :


Functions 
:
enterdetails ( ) – to input data





Display ( ) – to display the details of the winner





Winner ( ) – To return the details of the winner trough the object after comparing the votes received by three candidates . 

c.
class data








( 2 )


{



int num ; 


public :


data ( int n )


{
num = n ; 
}


void show ( )


{



cout << n <<endl;


}

};

class database : public data

{

char name[12];

data d ;

public :

__________________________

};

Fill in the blanks to define a constructor for the derived class assigning values of the data passed from main ( ) and to assign a data 15 o base class constructor data n . 

d.
class RED 








( 2 )


{



char n [ 20 ];



void input ( );


protected :



int x , y ;



void read ( );


public :



RED ( );



RED ( int a );



void get_red ( );



void put_red ( );


};


class WHITE : protected RED


{



void a , b ;


protected :



int c , d ;



void get_white( );


public:



WHITE ( );



Void put_white ( );


}


class BLACK : private WHITE


{



void * p ;



char st[20];


protected :



int q;



void get_black( );


public:



BLACK ( );



void put_black ( );



}ob;

a. Name the data members and functions which are accessible by the objects of class BLACK.

b. Give the size of object ob

c. Name the OOPS concept implemented above and its type .


d. Name the members accessible by function get_black( ); 

PART – C

1.
Write a function in C++ to replace the repeating elements in an array by 0 . The zeros should be shifted to the end. Do not use parallel array . The order of the array should not change.    



                         


( 2 )

Eg : Array 
: 10 , 20 , 30 , 10 , 40 , 20 , 30

Result : 10 , 20 , 30 , 40 , 0 , 0 , 0

2. Write a function in C++ called shift( ) to rearrange the matrix as shown . Do not use parallel matrix .







( 2 )

Original Matrix



Rearranged Matrix

1
2
-3
-2

-3
-2
1
2

0
-1
2
1

-1
0
2
1

-3
-4
9
4

-3
-4
9
4

3. Convert to postfix form :






( 2 )

A + ( B * C ) ^ D / ( E * ( F – G ) – B ) * C ^ D

 
4.   Evaluate the following expressions :





( 1 )

3 , 5, + , 6 , 4 , - , * , 4 , 1 , - , 2 , ^ , +


5.    Write C++ function push( ) , pop( ) and display( ) to do the same in a Linked Stack where each node has employee code , name and salary as fields. Give all the declarations needed.







( 2 )   


6.     An array A[15][35] is stored in memory in column wise with each of its element occupying 8 bytes . Find out the base address and the address of the element A[2][5] , if the location of A[5][10] is stored at address 4000 .



( 2 )


PART – D

1. Write a program to create a text file “ TEXT.DOC “ . Tranfer the lines that start with a vowel ( not case sensitive ) to the file in reverse order . ( do not use strrev ) to a new file “EXAM.DOC” . Merge the content of both the files into a third file “ FINAL.DOC “ , contents of “TEXT.DOC” followed by “ EXAM.DOC “ . Also find the total number of bytes occupied by the file 







( 4 )
               

2.
Define a class RECORD with the following specifications and complete the class definitions . ( Use BINARY FILE CONCEPT and write the function definitions )

( 4 )


private members :


Empno

:
integer


Ename

:
string of 30 characters


Salary

:
float


Input_record( )
:
To accept records


Show_record( ) :
To display records
 

Public members :

 
Ret_no( )
:
returns eno


Create( )
:
to create a file of records


Display( )
:
to display the contents of the file


Modify( )
:
to get a number and modify if record exist else display not found


Del( )

:
to delete a record if present else say not found

PART – E

a.
What do you understand by primary key and Degree of a relation in a data base
( 1 )

b.
Consider the following table and answer the questions given below :

EMPLOYEES

	EMP ID
	FIRST NAME
	LSAT NAME
	ADDRESS
	CITY

	010
	George
	Smith
	83 First street
	Howard

	105
	Mary
	Jones
	842 Bine Even
	Losantiville

	152
	Sam
	Tone
	33 Elm str
	Paris

	215
	Sarah
	Ackerman
	440 US
	Upton

	244
	Mnila
	Sengupta
	24 friends str
	New delhi

	300
	Robert
	Samuel
	9 Fifth cross
	Wahington

	335
	Henry
	Williams
	12 Moore str
	Boston

	400
	Rachel
	Lee
	121 Harrison str
	New york

	441 
	Peter
	Thompson
	11 Red road
	Paris


EMPSALARY

	EMPID
	SALARY
	BENEFITS
	DESIGNATION

	010
	75000
	15000
	Manager

	102
	65000
	15000
	Manage

	152
	80000
	25000
	Director

	215
	75000
	12500
	Manager

	244
	50000
	12000
	Clerk

	300
	45000
	10000
	Clerk

	335
	40000
	10000
	Clerk

	400
	32000
	7500
	Salesman

	441
	28000
	7500
	Salesman


i.
TO display all the details of EMPLOYEE table in descending order of FIRSTNAME   ( ½ )
 

ii.
To display all the details and Total salary if all Managers from the EMPLOYEE table and EMPSALARY table where total salary is calculate as salary + benefits


     ( 1 )

iii.
To display maximum salary among MANAGERS and CLERKS from EMPSALARY table











    ( ½ )

iv.
Give output for the following :


a.
SELECT COUNT ( DISTINCT DESIGNATION ) FROM EMPSALARY;
    ( ½ )

b. SELECT SUM(BENEFITS) FROM EMPLOYEE WHERE DESIGNATION =‘clerk‘;


   ( ½ )

PART – F

1.
State and verify absorption Law algebraically




( 1 )

2.
Write the Boolean expression for the following circuit :



( 1 )

3.
Write the SOP and POS expression for the table given below :


( 1 )

	P
	Q
	R
	G

	0
	0
	0
	0

	0
	0
	1
	0

	0
	1
	0
	1

	0
	1
	1
	0

	1
	0
	0
	1

	1
	0
	1
	0

	1
	1
	0
	1

	1
	1
	1
	1


4.
Reduce the following with the use of K-Map




( 2 )


( ( 0 , 1, 2 , 4 , 5 , 6, 8 , 10 )

PART – G

1.
What us the difference between Message switching technique and Packet switching technique ?









( 1 )

2. Expand the following :







( 2 )

a. TCP/IP

b. XML

c. CDMA

d. WLL

3.
Write two applications of Cyber Law.





( 1 )

4.
Ravya Industry has set up its new center at Kaka Nagar for its office and web based activities . The company compound has 4 buildings as shown :

Center to Center distance between various buildings is as follows :

Harsh to Raj




50 m

Raz to Fazz




60 m

Fazz to Jazz




25 m

Jazz to Harsh




170 m

Harsh to Fazz




125 m

Raj to jazz




90 m

Number of computers in each building

Harsh





15

Raj





150

Fazz





15

Jazz





25

i.
Suggest a cable
 layout between the buildings .



( ½ )

ii.
Suggest the most suitable place to house the server with reason

( ½ )
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